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[ path[i][2]0 O O O */ import java.util.*. public class
CriticalPathTest { public static void main(String[] args) { int[][]
graph={{0, 1,6, 2,4, 3,5,} {1, 4,1,} {1, 4,1}{1,5,2,}, {2,6,9, 7,7, } {1,
7,41{1,8,2,}{2, 8,4,}{2,}.}. int[][] path. CriticalPath
criticalPath=new CriticalPath(). criticalPath.input(graph).
path=criticalPath.getPath(). for(int i=0. i System.out.printin("J I "
path[i][0] "-" path[i][1] " O O " path[i][2]). } } } class CriticalPath {
private int[][] graph. private int[][] path. int len. void input(int[][]
graph) { this.graph=graph. path=new int[graph.length-1][]. len=0.
calculate(). } void calculate() { int[] ve=new int[graph.length]. /]
0000000 Stack stackl=new Stack(). Stack stack2=new
Stack(). inti,j,v. for(intt: ve) t=0. stack1.push(0).
while(stackl.empty()!=true){ v=(Integer)stackl.pop(). for(i=1. i
j=graph[v][i]. if((--graph[j][0])==0){ stackl.push(j). } 100Test [
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